(x=[_]?

x2—2x—|—\:|

® 3 @ 4 ® 5

@ 2

(x=1)2

‘ x2—2x+1



O (x+1)x+8) @ (x-Dx-8 GOu+1)x-3)
@ (x-1)(x+38) ® (x-2)(x—-4)

‘ ¥ -Tx-8=(x+1)(x-28)
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@ 2 @ 2x= ® 4

@ ® s

¥ +9x+8=(x+1)(x+8)
(x+8)—-(x+1)=7




= % 8x%y —4xy & QIp7} ofd Z20

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) (@)y(2x +1)

8x%y — 4xy = 4xy(2x — 1)




A& o]-8ote] 137 -

® a®+ 2ab+ b? = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a? - 1* = (a+b)(a-b)

=13+ 12 & AA5t9 ok

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd =

(ax+b)(cx+d)

o] m,

2
132 -122 = (13 + 12)(13 -12)=134+12=125

weta ol 8 H FAL o

- b? = (a+b)(a-b)oITt.




6. 9a2-16b%2=-120°0]T 3a—4b =4 & W, 3a + 4b ] ZHS FotH?

® 2 @ 3 ® -2 (Ei)—s ® -5

(3a + 4b)(3a — 4b) = —12
~3a+4b=-3




7. ORI Fa®(x-y) +2ab(y-x) 9 JAFE BEF IE ALY
H7
@ aly + x) © a(x-y)(a-b)
© ala-2b) ® x(a-2b)
® x-y ® (x-y)(a-2b)
O 6,0,@ ® 0,00 ® ©,0.0
@®eo6o 5 ©0.0

a’(x—y) +2ab(y — x) = a®(x —y) — 2ab(x - y)
= a(x—y)(a - 2b)




2 % 2Tax? — 12ay* 2 HFEA| JA+E3| g AL

@ (3ax-—3y)? @ 32(3ax - 4ay)?
® 3a(32%ax — 4ay)? @3a(3x + 2y)(3x —2y)

® 3(9ax* - 4ay?)

27ax? — 12ay* = 3a(9x2 = 4y2)
— 3a(3x + 2y) (3x — 2y)




9. =T st urEA 2 ALY

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

B

@ 4a? - 2ab = 2a(2a - b)

@ x? 4+ 20x - 100 = (x — 10)2
@-x+1=-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)
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@D 2x+3 @ 2x+1

@ x-5 @x—i’)

¥ -dx+3=(x-3)(x-1)
2x2 —3x -9 = (2x+3) (x - 3)
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® 2x -3y @ 2x-y
@2x—|—3y ® 2x+ 5y

® 2x+y

~&B

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy - 2my?

—44+m=-1,m=3

A=-2m,A=6

L 2x2 — xy — Ay? = (x - 2y)(2x + 3y)




12, x(x+1)(x+2)(x+

3)+12 ARl sh Wk, () gtel Soiz
o] 4] g 7129

x(x+1)(x+2)(x+3)+1
=x(O)x (x+1)(@)+1

= (x> +3x)(®) +1

(@) = Azt st

A2 +2A4+1=(A+1)=(®)?

® x+3 @ x+2 ® x*+3x+2
@x2+3 ® x2+3x+1

@ x>+ 3x




13.

x=-3+ V5 & ], x* +6x+9 O F& F5FH?

R 4+6x+9=(x+32=(-3+V5+3)2=5




14, y<x<0 €™, /x2-2xy+y2+ /22 + 2xy + y2 = {FHo] o}H?

@ o @ 2x-2y ® 2x

@ 2y @—Qy

VE=-9)2+ /(x+y)?2 =lx-y+Ix+yl
=x-y-(x+y)=-2




15. o Aol A+ B+ C 9] 27
(x+A) (Bx+3)=2x* + Cx—12

O -14 @ 0 ®7

@ 14

©) B¢

~&B

(x+A) (Bx+3) = 2x* + Cx — 12°]| A
x 9] 0| A7t 20|22 B=2
Aol 120|282 A= 4
(x—4)(2x+3) =2x* - 5x - 120]| 22
cC=-5

S A+B+C=-4+2-5=-T




16.

ZArZEg o] Qol7t (a + b)(a+ b + 1) — 30 o3, 7k2 9] Zo|7t
(a+b+6) 4 o, o] AP o] o] HolE FotH?

® 4a+2b+4 @ 4a-2b-2 ® da-4b+2

@4a+4b+2 ® 4a+4b-2

S8 \
a+b=AzFH
A(A+1)-30=A%2+A4-30
= (A+6)(A—5)
=(a+b+6)(a+b-5)
N2 :a+b-5
=9 :2(a+b-5+a+b+6)=4a+4b+ 2 °|T}.




@x(x—fi) @ (
@ (x-4)(x+2)

® x(x-4)

x-2=1% A&
P -2t-8=(t+2)(r—4)

x(x—6)
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x—=2y)(x—2y—4z) - 1222 o] A7 1 Q1 F dApA o) Fo=m
ol o, & Ao e Aot ?

T

® 2x-4y+4z (@)2x—4y—4z ® 2x-4y+ 3z

@ 2x 44y +4z ® 4x-2y-4z

~&B

x—2y=A 2} o}H
A(A -4z) - 1272 = A% - 4Az - 1272

= (A-62)(A + 22)

= (x=2y-62)(x - 2y + 22)
L (x=2y—6z)+ (x—2y+2z7) =2x—4y -4z




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)




20. Thg F 6 - 19 Q47 obd 7L

D x-1 @ x*-1 @ x*-1

@xG—l ® x¥-1

B-1=0x -1 +1)
==+ 1) +1)
=(x-1)x+D2+1)(*+1)




